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Questions

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

Answers Choice

A. <div></div><div><table class="bix-
tbl-options" id="tblOption_16"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_A_ 16" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">According to the
Bible</td></tr></tbody></table></div>
B. <span style="color: rgb(0, 0, 0);
font-family: arial;">It is meek and
humble</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Who shall inherit
the earth</span>

D. <div></div><div><table class="bix-
tbl-options" id="tblOption_16"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_D_16" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">No error</td></tr>
</tbody></table></div>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">If you lend him a
book</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">He will lend it to
some one else</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">And never you will
get it back</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">l have got</span>
B. <span style="color: rgb(0, 0, 0);
font-family: arial;">My M.Sc.
degree</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">In 1988</span>
D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">One of the
members</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Expressed doubt
if</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">The Minister was

an atheist</span>
D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">A lot of travel delay
is caused</span>

B. <span style="color: rgb(0, 0, 0);



solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

font-tamily: arial;">Due to the
inefficiency and lack of good
management</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">If | had
known</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">This
yesterday</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">The Indian
radio</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Which was
previously controlled by the British
rulers</span>

D. <div></div><div><table class="bix-
tbl-options" id="tblOption_11"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_D_11" style="margin:
0px; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">No error</td></tr>
</tbody></table></div>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Because the
boarding and lodging
charges</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Were
exorbitant</span>

D. <table class="bix-tbl-options"
id="tblOption_35" border="0"
cellpadding="0" cellspacing="0"
width="100%" style="margin: Opx;
box-sizing: border-box;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: Opx;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_D_35" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">No error</td></tr>
</tbody></table>

A. <span style="color: rgb(0, 0, 0);

font-family: arial;">An Indian
ship</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">laden with
merchandise</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);



10 solve as per thedirectiongiven above

Identify the error

" He was then exiled to this Island

Identify the error

12 he was on the verge of leaving for Lahore when i reached there

Identify the error

13 He deduced this point after he had studied the matter

Identify the error

14 He ran away as he saw the lion

Identify the error

15 In comparison with the literature created by the ancient Greeks today Greeks have
written nothing worth describing

Identify the error

16 The president of the block association tried to convince her neighbours they should
join forces to prevent crime in the neighbour hood rather than continuing to be
victimized

Identify the error

17 Just as william shakespeare was the preeminent poet of England so Robert Frost
was the Preeminent poet of the United states

font-family: arial;">On the eve of the
examination</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">That | found it very
easy to work it out</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. he was then sent to this island
B. He was then deported to this Island

D. He was then driven out to this
Island

A. I reached there and he left for
Lahore

C. He left for Lahore and i reached
there

D. I had reached there before the left
for Lahore

A. He deduced this point because he
had studied the matter

B. He had studied the matter
therefore he deduced this point

C. He could not deduce this point
without studying the matter

A. he ran away only because he had
seen the lion

B. He saw the lion and ran away

C. He saw the lion therefore he ran
away

A. In comparison with the literature
created by the ancient Greeks today
Greeks have written nothing worth
describing

B. In comparison with the literature
created by the ancient Greeks the
literature of today Greeks are
containing nothing worth describing
C. Compared to that of the ancient
Greeks today Greeks have written
nothing worth describing

E. Compared to the ancient Greeks
literature today Greeks have written
nothing worth describing

A. They should join forces to prevent
crime in the neighbourhood rather
than continuing to be victimized

C. About joining forces to prevent
crime in the neighbourhood instead
of continuing to be victimized

D. for the joining of forces to prevent
crime in the neighbourhood rather
than continue to be victimized

E. To join forces to prevent crime in
the neighbourhood rather than
continuing to be victimized

B. Just like William Shakespeare was
the preeminent poet of England so
Robert Frost

C. As William Shakespeare was the
preeminent poet of England Robert
Frost

D. Just a England preeminent poet
was William Shakespeare Robert
Frost

E. As William Shakespeare was the
preeminent poet of England in the
same manner Robert Frost



18

19

20

Identify the error

The reason why the boxing commission refused to grant a license to the fighter was
because it concluded he could not pass the required physical exam

Identify the error

The jurors agreed that of all the reasons the defense attorney gave for finding his
client not guilty the last two of them were the most absurd

Identify the error

Long popular among the connoisseurs of indian music Ravi Shankar first impressed
western listeners with his phenomenal technical virtuosity but they soon came to
appreciate his music as an artful expression of an older cultures musical insights

A. The reason why the boxing
commission refused to grant a license
to the fighter was because it
concluded

B. The boxing commissions refusal to
grant a license to the fighter was
because it concluded

D. The reason the boxing commission
refused to grant a license was
because it concluded

E. The boxing commission refused to
grant a license the reason being that
it concluded

A. The last two of them were the most
absurd

B. The latter two were the most
absurd

C. The last two of these were the
most absurd

D. The last two of them were the
absurdest

B. But is soon occurred that they
appreciated his artful music as an

C. But soon this was surpassed by an
appreciation of it as an artful

D. Which was soon surpassed by an
even deeper appreciation of it as an
artful

E. Soon surpassed by an artful
appreciation of an



